E}O|

=3 A

=]

2I-AL &2

GDC AZ[=/EE

—i

S
o

40, @50, 63, 80, 100, 125, #1350

=1
F2HA
® @ ® % ® ® @) ®
1. A2 =Y 3. 52 i (mm) 6. 2= M
coc | HolE=EEE dEd 40 ®40 2% 24 95
OIHIE 1= W 50 ®50 | ECEEY
63 @63 Y Y HERE
2. O}2El BAl 80 »80 J geex
=715 | o2y ge 100 @100 ¢ Y A3 H
B | =e sem 125 @125 F) 2= MY BH0| 1Y BT F2HE|
ex) IJ, YJ
FH ZHR - == 150 @150
FC EUR - Y5 7. 2E AR A
- CAl2|C] EAl
TH EZLg - sES 4.4 1 84 575 AQE| 9=
- 1= aR(EEY . -
¢ | =eiue - as e TEES) A4 | CL-D-AS4 29%| wxt
o=o
™ | Eaiue - A F TET
Yy EpfLe - == 8. ARIX| BEF 7
TDH -_rl‘:a E'I I9 :”, 5. Alzin] sy TIA =5 7T —
= = Jp—— Aol "
DC | YUY e - U35 [ & ~9lx| o) 23
TDM THE EZL2 - dH 1 2QR] A7 FE
TSH LIAFE ERjL2 - == n AQAR| n7f SE
TSC LIANE EdjU@ - WS
TSM LAY EB{L @ - ME
CA | uu Zau~
CB Ol&H SHIA
nr2g Heppl W
T2 E (mm) @40 @50 ®63 ®80 @100 @125 @150
F E O 2 E| GLB-40 GLB-50 GLB-63 GLB-80 GLB-100 GLB-125 | GLB—-150
= Bl | GFH-40 GFH-50 GFH-63 GFH-80 GFH-100 | GFH-125 GFH-150
E 3 U 2| GTM-40 GTM-50 GTM—-63 GTM-80 GTM—-100 |GTM—-125 | GTM—150
EPL2(7YE)| GTDM-40 | GTDM-50 | GTDM-63 | GTDM—80 |GTDM—100|GTDM—125|GTDM—150
E2LI2 (LHAHE) | GTSM—40 | GTSM-50 | GTSM-63 | GTSM—-80 |GTSM—100 |[GTSM—125 |GTSM—150
oA M2 H A GCA-40 GCA-50 GCA-63 GCA-80 GCA-100 | GCA—-125 | GCA-150
of &4t 2 & Hl & | GCB-40 GCB-50 GCB-63 GCB-80 GCB—-100 | GCB—-125 | GCB—-150
m Pneumatic 147




5 = u | o | e ‘ #50 ‘ #63 ‘ #80 ‘@100 ‘ @125 ‘ 150
2537
Mpa(bar) 0.1~0.9(1.0~9.0)
Mpa(bar) 1.5(15.0)
© 5~60
mm/s 50~500
Air cushion
~250 : +19.251~1000 © *'3, 1000~ :*29
o 2 g g 4 FEY olEX ZUXY, HE EUNE
— =
HEM 2Fdd
S0 EZHE (mm) .
(mm) | 25 [ 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500
290 | O oo ]Jololololololololololo 800
250 | O o oo lolololololololol ol ol 120
63 | O o ool olololololololol ol ol 120
280 | O o ool olololololololol ol ol s
210 | O o] olololololololololol o] ol 1s0
215 | 0o o] olololololololololol o] ol 1s0
#2150 | O |o ] olo]olo]ololc ol o o] ol o] 1s0
A2 O|E &= EEE)
EETC =" 3322 (Mpa)
(mm) (mm) 0.2 03 0.4 05 0.6 0.7 0.8 0.9
wzl 251 377 502 628 754 879 | 1,005 | 1,130
® 40 16 —
%l 211 317 422 528 633 739 844 950
w7l 393 589 785 981 | 1178 | 1,374 | 1,570 | 1,766
#50 #20 =
%l 330 495 659 824 989 | 1,154 | 1,319 | 1,484
wzl 623 935 | 1,246 | 1558 | 1,869 | 2181 | 2493 | 2,804
®63 ®20 =
%l 560 840 | 1021 | 1401 | 1681 | 1961 | 2241 | 2,521
wzl 1005 | 1507 | 2010 | 252 | 3,014 | 3517 | 4019 | 4522
®80 ®25 -
%l 907 | 1,360 | 1.813 | 2267 | 2,720 | 3173 | 3627 | 4,080
wzl 1570 | 2,355 | 3,140 | 3,925 | 4,710 | 5495 | 6,280 | 7,065
100 #30 =
%l 1429 | 2143 | 2857 | 3572 | 4,286 | 5000 | 5715 | 6,429
wzl 2,453 | 3,680 | 4,906 | 6,133 | 7.359 | 8,586 | 9,813 | 11,039
#125 @24 =
%l 2261 | 3,391 | 4522 | 5652 | 6,782 | 7,913 | 9,043 | 10,174
wzl 3,533 | 5209 | 7,065 | 8,831 | 10,598 | 12,364 | 14,130 | 15,896
150 @40 =
%l 3,281 | 4,922 | 6,563 | 8,203 | 9.844 | 11,485 | 13,125 | 14,766

m Pneumatic 148



=™ AR ALY

GDC Al2|=/EZS(ALTH)

AR X F W CL-D-A54
£ s © & DC 24v AC 110V AC 220V
Z o f#otdF 5~100mA 5~40mA 5~20mA
U l &t DC 500V, 50M
e d st 2.4V o5t
Qloi#Al ol = ON Al MM Clo|2= HE
g = 2o, AL ZESH
Ol H X X
AQX| BE XA AEZRT
Auto s/w Auto s/w Trunnion type
Al EEIPS o| el Trunnion type
CL—D—A54| 27§ £&H0|H, 10:(#40~100) @40 @50 @63 @80 @100 @125 @150
SUH)IHFE | 20:(125~150) 90 95 100 115 120 125 135
nf R EH(SYH
(n-2) .
10+55—=:640~100
n=2.4.6.8 90+55@ 95+55(”2;2) 100+55¥ 115+55¥ 120+55(”2;2) 125+55¥ 135+55¥
n=4.8,12, n=4.8,12, n=4,8,12 n=428,12, n=428,12, n=4.8,12, n=4.812,
20+55(n;2):¢125~150 16.. 16... 16... 16. 16... 16... 16.
n=2,4,68...
> —
SHHE (49l < ko)
GDC/EZEE @40 @50 @63 »80 @100
JEEY 0.8 1.3 1.52 0.74 3.92
FEH 0.96 1.52 1.82 3.34 4.68
Flange 0.92 1.48 1.78 3.16 4.6
14 clevis 1.14 1.84 2.38 4.32 6.34
244 clevis 1.1 1.8 2.34 4.14 6.16
Trunnion 1.24 1.96 2.64 4.32 6.78
508T'Y 57188 0.18 0.24 0.3 0.44 0.6
o HEE! 0.16 0.24 0.24 0.52 0.72
=T ‘ YHE 0.26 0.34 0.34 0.74 0.98
m Pneumatic 149



®
)
O
=
L]
|
~
F
[

it _|__|
o
k1

.E

¥
0]
4T
i

=t f&9 A =l F=3 A
1 Piston Rod =] 11| Tube ALEZ
2 Slip Ring AE 12 | Rod Cover ALE 2
3 Piston AL &3 13 | Rod Seal & Wiper NBR
4 Magnet EZ2tAE 14 | Rod Bush -

5 O-Ring NBR 15| o|2o| 2M -]
6 Hex Nut =] 16 | Tie Rod =
7 Piston Packing NBR 17 | sz 1y 20| HE 28
8 Head Cover ALE S 18 | Cushion Needle SEa
9 Cushion Packing 2 et 19 | O—Ring NBR
10 O-Ring NBR 20 | Hex Nut AE

Parker RS

150




GDC Al2|=/EZS(ALTH)

HAxIAC
EFH/040~2100 (49 : mm)
2-Re(PT) 4-CM
< G e
= — :‘:«
u .
Hi b g&
8 |8 £ S
" S —
A
E W W oct
]
B C+STROKE oc2
TL+STROKE
S E2HY #71,000mm 0|49 B
Tie—Rod 223 £t
==t ,gg%g
Al fas\ - 1.5
Y L et e —
T TA aTy TA
C+STROKE
TL+STROKE
Hzex paol Z2
o il
BiL '
TL+L+STROKE
(4] A B © C1 c2 CM @D | @D1 E G aJ
10008 2+ 10000] 44|
40 22 52 90 - 40 56 M6x1.0 16 - 18 13 33
50 28 63 104 134 48 67 M8x1.25 20 30 23 135 40
63 28 63 104 134 59 78 M8x1.25 20 30 23 135 40
80 36 79 113 146 74 98 M12x1.75 25 40 28 15 45
100 45 95 124 162 90 116 M12x1.75 30 45 33 17 50
a KV KW M MM Re(PT) T TA I TY w
10000 2H10000] 4}
40 25 7 8 M14x1.5 1/4 B - 142 - 57 26
50 31 10 11 M18x1.5 3/8 30 85 | 167 197 73 31
63 31 10 11 M18x1.5 3/8 35 9 167 197 86 31
80 37 11 13 M22x1.5 1/2 40 135 | 192 225 107 34
100 44 13 16 M26x1.5 1/2 45 10 | 219 257 130 36
HW2ex FEO HR
(%) B TL X . 101~ [ 201~ [ 301~ 201~ 501~ ] 601~ 701~ 801~ | 901~
100 200 300 400 500 600 700 800 900 1000
40 52 142 49 40 70 100 130 160 - - - - -
50 63 167 49 40 70 100 130 160 190 - - -
63 63 167 49 40 70 100 130 160 190 - - -
80 79 192 60 40 70 100 130 160 190 220 250 280 -
100 95 219 60 40 70 100 130 160 190 220 250 280 310
m Pneumatic 151




- A
2|%1 |—|—_|_
EEY-FENRE 8/040~3100
LBY
B C+STROKE
E |G, G _,
2 A ‘ 2-Re(PT) oct 4CM
I MM
- M
8 T - — L1 >
491D
i — ‘j 5
LB w w_|lc LE LX
Y LS+STROKE Lz
TL+STROKE
3 1,000mm 0|40 H2
=7t BzE Tie—Rod 223 5
T
T TA
LS+STROKE
TL+STROKE
Y2x B0 A2
B+L
Q
S
— \
Y+L
TL+L+STROKE
C
5] A B maloo © CcM @D |@D1 | E G | KV [ KW | LT | LB | LC |@LD| LE | LF
40 | 22 | 52 |90 | - 40 M6x1.0 | 16 | - 18 | 13 | 25 | 7 9 |34 [ 21 [85 13 | 30
50 | 28 | 63 | 104 [ 134 | 48 M8x125 | 20 | 30 | 23 [ 135 31 [ 10 [ 11 [ 38 | 23 [105] 15 | 30
63 | 28 | 63 | 104 | 134 | 59 M8x125 | 20 | 30 | 23 [ 135 31 | 10 |[115] 41 | 25 | 105] 16 | 40
80 | 36 | 79 [ 113146 74 | Mi2x175| 25 | 40 | 28 [ 156 [ 37 | 11 | 16 | 50 [ 34 | 13 | 16 | 45
100 | 45 | 95 | 124 | 162 | 90 | Mi12x1.75| 30 | 45 | 33 | 17 | 44 | 13 | 16 | 56 | 40 | 15 | 16 | 50
@ | LH LS X | X | LY [ Z | M MM R [Re(PT)| T | TA TL ™Y | W | Y
10000 210000] &1 1000012+ 10000] 4]
40 | 40 [132] - 40 | 40 | 68 | 56 | 8 Mi4xi15 | 3 | 1/4 | - - 176 | - 57 [ 26 | 31
50 | 45 [ 150 [ 180 | 45 | 45 [785] 67 | 11 M18x15 | 3 [ 3/8 | 30 | 85 [205 [ 235 [ 73 | 31 | 40
63 | 53 [ 154 [ 184 [ 60 | 60 | 92 | 78 [ 11 M18x1.5 | 356 3/8 | 35 | 9 [208 | 238 ] 86 | 31 | 38
80 | 63 | 181 | 214 | 71 | 71 [ 112 98 | 13 M22x15 | 4 | 1/2 | 40 [ 135|242 [ 275 | 107 | 34 | 45
100 | 75 | 204 [ 242 85 | 85 | 133 [ 116 | 16 M26x15 | 4 [ 1/2 | 45 | 10 [ 275|313 [ 130 | 36 | 55
HZLx B0 AL
L
4 B Y = X 100 | 101~ [201~ [301~ [401~ 501~ ]601~ [701~ |801~ 901~
200 300 400 500 600 700 800 900 1000
40 | 52 | 31 | 176 | 49 | 40 | 70 [ 100 | 130 | 160 | - - - - -
50 | 63 | 40 [ 205 | 49 [ 40 [ 70 [ 100 [ 130 [ 160 | 190 | - - - -
63 | 63 | 38 [ 208 | 49 [ 40 [ 70 [ 100 [ 130 [ 160 | 190 | - - -
80 | 79 | 45 | 242 | 60 | 40 | 70 | 100 | 130 | 160 | 190 | 220 | 250 | 280 | -
100 | 95 | 55 [ 275 | 60 | 40 [ 70 [ 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310
m Pneumatic 152




GDC Al2|=/EZS(ALTH)

EEY-ZHWXGI=ES) 02 E 8/040~2100 £l 1 mm)
FHY A Kw
E  2RcPT) 40FD
2l ™
< G, G
-—
g
s N
FR
Y Tl w w
B C+STROKE
TL+STROKE
=7 242
su=zy 27 1,000mm ol 4ol A2
Tie—Rod 228 £t
-
/@ =
S
—
T
C+STROKE A oY A
TL+STROKE
2= Axo|
5 | o
\
TL+L+STROKE
C
(%] A B C1 CM @D D1 E @FD FR FT FW FX FY
100002t {10000 &
40 22 52 90 - 40 M6x1.0 16 - 6 9 18 12 100 80 40
50 28 63 104 134 48 M8x1.25 20 30 9 11 21 14 112 90 45
63 28 63 104 134 59 M8x1.25 20 30 9 11 21 14 135 112 60
80 36 79 113 146 74 M12x1.75 25 40 10 13 25 18 160 132 71
100 45 95 124 162 90 M12x1.75 30 45 13 16 30 20 180 150 85
TL
(%) FZ G aJ KV KW M MM Re(PT) | T TA 1000812 1000014 TY w Y
40 65 13 33 25 7 8 M14x1.5 1/4 - - 142 - 57 26 40
50 78 135 40 31 10 11 M18x1.5 3/8 30 8.5 167 197 73 31 49
63 92 135 40 31 10 M M18x1.5 3/8 35 9 167 197 86 31 49
80 114 15 45 37 11 13 M22x1.5 1/2 40 185 | 192 | 225 107 34 61
100 128 17 50 44 13 16 M26x1.5 1/2 45 10 219 | 257 130 36 75
weex xo ye
L
2 Y = X [oo [101- 201~ 301~ |401- |501- | 60T~ [701~ |80~ ] 901~
200 300 400 500 600 700 800 900 1000
40 40 142 49 40 70 100 130 160 - - - - -
50 49 167 49 40 70 100 130 160 190 - - - -
63 49 167 49 40 70 100 | 130 | 160 | 190 B - -
80 61 192 60 40 70 100 | 130 | 160 | 190 | 220 | 250 | 280
100 75 219 60 40 70 100 130 160 190 220 | 250 280 310
m Pneumatic 153




EEH-SUX|(HS) 02E /0 40~2100

FCH
2-Re(PT) 4FD
z M G G
o] EEEVIY]
x T T
I =111
= [a} ,E,H } I I IS A I | > N
S S [l
[
A
E[_w w Oci
B C+STROKE FT FX
TL+STROKE Fw
=X B0l AR
[ f%
< % \
8| 1 i
B+L
TL+L+STROKE
[2} A B [¢] ci @D E oF FT Fw FX FY
40 22 52 90 40 16 18 9 12 100 80 40
50 28 63 104 48 20 23 11 14 112 90 45
63 28 63 104 59 20 23 1 14 135 | 112 60
80 36 79 118 74 25 28 13 18 160 132 71
100 45 95 124 90 30 33 16 20 180 150 85
%] FZ G aJ KV KW M MM Rc(PT) TL w
40 65 13 33 25 7 8 M14x1.5 1/4 154 26
50 78 135 | 40 31 10 11 M18x1.5 3/8 181 31
63 92 135 40 31 10 11 M18x1.5 3/8 181 31
80 114 15 45 37 11 13 M22x1.5 1/2 | 210 34
100 | 128 17 50 44 13 16 M26x1.5 1/2 | 239 36
HZ L= BEo AL
L
[] B T X 100 | 101~ [ 201~ T301~ [401~ [ 501~ | 601~ | 701~ | 801~ | 901~
200| ~300| ~ 400| 500| " 600| 700| 800| 900| ~ 1000
40 52 154 49 40 70 100 130 160 N - - - -
50 63 181 49 40 70 100 130 160 190 - - - -
63 63 181 49 40 70 100 | 130 | 160 | 190 : - - -
80 79 210 60 40 70 100 130 160 190 220 250 280 -
100 95 239 60 40 70 100 130 160 190 220 250 280 310

m Pneumatic 154



GDC Al2|=/EZS(ALTH)

HAxIAC
EX|TE=
EEY-AU4M S2H|A "/040~2100 (29 : mm)
CAc_:i
2Re(PT)
gl M & e 20D
in] VY
B T T |
(RER=—— © . &
2 o ]L ,# >7,7,7,,7,7,7,7,,,, \ i H .
T /) T
]
= oTle
T
c o
A W oy Ooct
E w w Oc2
B C+STROKE Ef
Y+STROKE cJ
TL+STROKE
HWa2ex Bio 2

:

B+L
Y+L+STROKE
TL+L+STROKE
2 A B c ci | c2 |@cd| cs | oL | ox | oy | @D | E
40 | 22 | 52 | 90 | 40 | 56 | 121 | 12 6 18 | 20 | 16 | 18
50 28 63 104 48 67 121 12 8 18 25 20 23
63 28 63 104 59 78 16.1 16 8 22 30 20 23
80 | 3 | 79 | 113 | 74 | 98 | 201 | 20 | 12 | 28 | 35 | 25 | 28
100 | 45 | 95 | 124 | 90 | 116 | 251 | 25 | 12 | 32 | 40 | 30 | 33

(%) E1 G aJ KV KW M MM Re(PT)| TL W Y

40 30 13 33 25 7 8 M14x1.5 1/4 184 26 172
50 37 135 40 31 10 1" M18x1.5 3/8 | 216 31 204
63 44 13.5 40 31 10 1" M18x1.5 3/8 | 227 31 211
80 51 15 45 37 11 13 M22x1.5 1/2 263 34 243
100 58 17 50 44 13 16 M26x1.5 1/2 302 36 277

wRex 9o Fe
L
o B X Y s 701~ [ 201~ | 301~ | 401~ | 501~ | 601~ | 701~ ] 801~ | 901~

~100 200| ~"300| " 400| "500| " 600| 700| 800| ~ 900| ~ 1000
40 52 49 172 184 40 70 100 130 160 - - -
50 63 49 204 216 40 70 100 130 160 190 - - - -
63 63 49 211 227 40 70 100 130 160 190 - - - -
80 79 60 243 263 40 70 100 130 160 190 220 250 280 -
100 95 60 277 302 40 70 100 130 160 190 220 250 280 310

m Pneumatic 155



EEY-0|4 SHIA /040~ 100 (B -

|
CB%&
2Re(PT)
> M G G
< @CD
gl wmm
- T T 4‘7
i

aJ
@D
)
LT

\

i

|

|

|

|

|

[

|

i

5

|
-

|

T

— 4444i444

= = ol | [®
c cx
A o cz
Elw w ocl
B C+STROKE Ef Hc2
Y+STROKE cJ
TL+STROKE
=X 2ol AR
i E—
e —
B+L
Y+L+STROKE
TL+L+STROKE
o] A B c ci c2 | @Cb | cJ cL [ [ cz | @D E
40 22 52 90 40 56 | 12.1 12 6 18 20 36 16 18
50 28 63 104 | 48 67 | 121 12 8 18 25 36 20 23
63 28 63 104 | 59 78 | 16.1 16 8 22 30 44 20 23
80 36 79 113 74 98 | 20.1 20 12 28 35 56 25 28
100 | 45 95 124 | 90 116 | 251 25 12 32 40 64 30 33

%) E1 G aJ KV KW M MM Re(PT) TL W Y
40 30 13 33 25 7 8 M14x1.5 1/4 184 26 172
50 37 135 | 40 31 10 " M18x1.5 3/8 | 216 31 204
63 44 135 | 40 31 10 1 M18x1.5 3/8 | 227 31 211
80 51 15 45 37 11 13 M22x1.5 1/2 | 263 34 243
100 58 17 50 44 13 16 M26x1.5 1/2 302 36 277
WX RE AL
L
@ B X Y L 100 | 101~ [ 201~ 301~ [ 401~ [ 501~ 601~ | 701~ | 801~ [ 901~
200 300 400 500 600 700 800 900 1000

40 52 49 172 184 40 70 100 130 160 - - - - -
50 63 49 204 216 40 70 100 130 160 190 - - - -
63 63 49 211 227 40 70 100 130 160 190 - - - -
80 79 60 243 263 40 70 100 130 160 190 220 250 280 -
100 95 60 277 302 40 70 100 130 160 190 220 250 280 310

m Pneumatic 156



GDC Al2|=/2ZS(ALTH)

HAxIAC
HEH-EBLIR 8/940~2100 (&2 : mm)
HEfE 712y S
2l ™ oty v
S| Mm 5
s |s -
B C+STROKE
TL+STROKE
HzRxY DY
TA1
>
s
TL+L+STROKE
o= YH Tsd oY
| o
i S
l
TA2
e YC+STROKE ) 1z
]
I
128 IRk} TS ¥
2 crjcz| T I TA |@T | TX1|@d: |@de | TA1|@D1|@D2| TA2| TX | TZ
40 | 40 | 56 | 30 | 67 | 16 | 16 | 63 - - - - B - - -
50 [ 48 | 67 | 30 | 73 | 18 | 18 | 80 | 12 | 30 | 8.5|15.5/ 30 | 12 | 100 | 134
63 | 59 | 78 | 35 | 86 | 20 | 20 | 90 | 14 | 30 9 [19.5] 35 | 12 | 125| 159
80 | 74 |1 98 | 40 | 107 | 25 | 26 | 112 20 | 40 | 13.5/25.5] 40 | 12 | 140|176
100 | 90 | 116 45 | 130 ] 32 | 32 | 140 | 20 | 45 | 10 | 29.5] 45 | 14 | 180 | 220
A B C CM oD | E G OJ | KV | KW | M MM Rc(PT)[TL [ W [ YC YH YM
40 | 22 | 52 | 90 |M6x1.0 16 | 18 | 13 | 33 | 25 7 8 [ M14x1.5 1/4 142 | 26 | 101 93 97
50 | 28 | 63 | 104 |M8x1.25 | 20 | 23 | 13.5] 40 | 31 10 | 11 [ M18x1.5 3/8 |167 | 31 [ 121 109 | 115
63 | 28 | 63 | 104 |[M8x1.25 | 20 | 23 | 13.5| 40 | 31 10 | 11 [M18xP1.5| 3/8 [167 | 31 |118.5|111.5| 115
80 | 36 | 79 | 113 |M12x1.75| 25 | 28 | 15 | 45 | 37 | 11 | 183 | M22x1.5 1/2 |192 | 34 | 138 | 133 |135.5
100 | 45 | 95 | 124 [M12x1.75] 30 | 33 | 17 | 50 | 44 | 13 | 16 | M26x1.5 1/2 219 | 36 [160.5 |153.5| 157
HWERx PX0| H
@ | B | TL | X |55 0= 201~ |07~ [401- |501- |601~ |707~ [801~ [907—
200”300 |” 400|500 600 |” 700 | "800 | 900 |~ 000
40 | 52 | 142| 49 | 40 | 70 | 100|130 160 | — - - - -
50 | 63 | 167 | 49 | 40 | 70 | 100 130| 160 | 190| — - -
63 | 63 | 167 | 49 | 40 | 70 | 100| 130| 160| 190 — - - -
80 | 79 | 192| 60 | 40 | 70 | 100|130 | 160 | 190| 220 | 250 | 280 | —
100| 95 | 219] 60 | 40 | 70 | 100 130] 160 | 190 | 220 | 250 | 280 | 310
m Pneumatic 157




GDC Alg|=/

e
MM
()
>
—
3m
|

A I s
EE8/0125 (90 : mm)
712y
2-Re(PT)
G G
| ” T
@ MM E@ ] ‘ g —— —Hi ‘ ] Bj
|t Fig—o———— o

B C+STROKE Q oc2

TL+STROKE

=
|
3

&

C+STROKE TA oTY

@
Y

J

o
hal
ﬁ@w ,‘/G\J

@D1

TA

TL+STROKE

TL+L+STROKE

C

Magnet HILW & | Magnet % (o3 c2 CM @D | @D1 E G @J

1000“\@‘10000\22 moomﬂq‘woooo\g’

131 ‘ 166 | 138 ‘ 180 | 108 | 142 M14x1.5 35 50 46 21 62

TL
MM Q |Re(PT)| T Magnet HILHZ | Magnet W% | TA TY w
mGODIB‘mUOOIg10000\@‘10000\8

125 | 41 15 M30x1.5 | 195 | 1/2 50 2665‘3015 2735‘3155 125 | 160 | 39
BERZ FH F2
TL L
2 B H| LY & TES X ~100 | 101~ 1201~ 1301~ 1401~ 1501~ |601~ 1701~ 1801~ |901~
Magnet ‘ Magnet 1 ‘ 200‘ 300‘ 400‘ 500‘ 600‘ 700‘ 800‘ 900‘ 1000
125 [ 116 | 2665 | 2735 70 | 40 | 70 [ 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310

Parker RS

158




GDC Al2|=/EZS(ALTH)

O2E "/ 125 (&2 : mm)

B C+STROKE 2-Rc(PT)

e

s M E
>
[n] MM ﬂ:@ I ‘ = —-—11 ‘ I E:ﬂ
T
I ct: T :
—]
4-@LD
’ ﬂ
LB W W LC LE LX
Y LS+STROKE Lz
TL+STROKE
=71 w2 / i
L 1
I
T - 3
i
i
T
T LX
LS+STROKE Lz
TL+STROKE
Y+l
TL+L+STROKE
C
%] A B [Magnet BILHZ | Magneti® | C1 CM @D |@D1| E G @J | KV | KW | L1 LB | LC |9LD| LE | LH
1000818t |10000] £{100081 €| 100001 4}
125 | 50 [ 116 | 131 ‘166 138‘180 108 | M14x1.5 | 35 | 50 | 46 | 21 62 | 41 156 | 70 295 | 50 18 | 20 | 85
S
2 Magnet HILH & Magnet L & X LY Lz M MM R |ReP)| T TA Magnet HILHZ | Magnet L & TY w v
1100001 2100001 44{1000111 24100001 4} 10000| 24100001 410000] 2+10000| 4}
125 231‘266 238‘280 100 | 156 | 142 | 18 M30x1.5 | 10 | 1/2 | 50 | 125 317‘ 352 324‘366 160 | 39 | 66

wEex wae P2

TL L
4] B 707~ 201~ [ 301~ [ 401~ | 501~ [ 601~ | 701~ | 801~ ] 901~
Magnet H|Li Q‘ Magnet Li 2 ~100 ‘ 200~ 300| ~400| 500|600 | 700| 800|900 1000

125 | 116 317 | 304 70 | 40 | 70 [ 100] 130 160 | 190 | 220 | 250 | 280 | 310

m Pneumatic 159



BEEH- Xl OIREE/® 125 (S+9] : mm)
FHE
FR 2Ra(PT) &
R . 40FD o
< M )
< T T (T
@l MM I \\,7,7,7,7,7,,“‘”@
I
Sl O el e e
T it
A K
Y w w dct
B C+STROKE Q FX
TL+STROKE Fw
S 248 87 1,000mm 0l 4to] 2 S
/Tie—ﬁod 223 25
T (T}
[ [ 7“‘”@
|
i L
1
C+STROKE TA
TL+STROKE
} |
HzRx B0 H2
[ [ N ——
TL+L+STROKE
c
5] A B | Magnet HILHZ | Magnet & | c4 cM @D | @D1| E |OFD | FR | FT | FW | FX | FY | FZ
1oonﬂm‘monﬂ\g’ 10000| 2+10000| &
125 | 50 | 116 | 131 [ 166 | 138 | 180 | 108 | M14x1.5 | 35 | 50 | 46 | 18 | 53 | 13 | 230 | 190 | 100 | 142
TL
2} G | @ | KV | KW | M MM Q |RePT| T | TA |Magnet BIIZ] Magnet s | Ty | w | v
10000] 21000014 |10008] 2+{10000] &
125 | 21 | 62 | 41 | 15 | 18 | M30x15 195 | 1/2 | 50 | 12.5 | 2665]301.5]273.5]3155] 160 | 39 [ 103
Mzex oao Yo
2 B i X 101~ 201~ 301~ 401~ 501~ 601~ 701~ 801~ [ 901~
Magnet HIL & [ Magnet i & “‘00‘ 200‘ 300‘ 400‘ 500‘ 600‘ 700‘ 800‘ 900‘ 1000
125 | 116 | 2665 | 2735 70 | 40 | 70 | 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310

Parker RS

160



GDC Al2|=/EZS(ALTH)

HAxIAC
BEFEH-EWK 0I2EH/9125 (£49] © mm)
FCH
2Re(PT)
. R 40FD
< M i ‘ | ‘
< T 7 \ N
@ mu [@ I ‘ I ———— i |1 . i @‘ at d\
| |
\ ‘ \
T I ‘ I
S o ———— e s
\ \
\
\ ‘ \
fq E=e——— Dled | bl
\ i /
A Kw ‘
E _l_w w Oct
|
B C+STROKE FT Fx
TL+STROKE Fw
HERx 2X0| AL
x -
8§
B
TL+L+STROKE
(9] A B © C1 @D E OFD FT Fw FX FY
Magnet HILH & |  Magnet LH &
125 | 50 | 116 131 138 108 | 35 46 18 13 | 230 | 190 | 100
Fz G a0 | KV | KW | M MM Ro(PT) T w
2 Magnet HILH & | Magnet LH &
125 142 21 62 41 15 18 M30x1.5 1/2 260 267 39
deox v Yo
@ B T X -
= = = = = = = = =
Magnet HIUH& | Magnet & ~100 | %0 | *%00 | %00 | 500 | P00 | Yoo | oo | * 500 | 00
125 | 116 260 267 70 | 40 | 70 | 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310

m Pneumatic 161



XR/IITXG (ALE H)
GDC Al2|=/75=Y T
AxI AT
AR+
E‘E‘%_gaﬂulﬁ %c§/¢125 (2] : mm)
CAY
2-Re(PT)
G G
o e
< M i
n]IEYVIY] E@ I ‘ | ——————i ‘ I 2ch
I
I
Q
SR ot ——— o)
A Kw
E w w oY_|ao cx
[
B C+STROKE E1 Dot
Y+STROKE gca
TL+STROKE
HERX 2Xo| A2
e
< _ o I _ _ _
8 & & @
B+l
Y+L+STROKE
TL+L+STROKE
A B ¢ ct c2 | gep | cu ox oy 2D E | Ef G
@ Magnet H| LY & ‘ Magnet L§ &
125 50 116 131 ‘ 138 108 142 251 25 32 40 35 46 58 21
Rc(PT. i Y
@ @ Kv Kw M MM c(PT) Magnet H|L§ & ‘ Magnet L§ & w Magnet H|L{ & ‘ Magnet L &
125 | 62 41 15 18 M30x1.5 1/2 330 337 39 305 ‘ 312
WEox Bio Fe
o 5 L L
X
IS N 01| 201 | 301 | 401- | 501 | 601 | 701 | 801 | 90T
Magnet HIL§Z | Magnet 4 -100 200| “300| " 400| " 500| "800 | 700|800 | 900| 1000
125 | 116 330 337 70 40 70 | 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310

Parker RS

162



GDC Al2|=/EZS(ALTH)

AxI AT
E‘i‘%‘%aﬂulﬁg/@125 (=] mm)
CB%&
2Re(PT)
G G
j—
> M
< T/ T oCD
~
3w i} -
J [ te————e O -
T oHiHe
A KW
E w w cv_|cy cx
Sl
B C+STROKE E1 cz
Y+STROKE oot
TL+STROKE Oc2
W= OXx HilO| HO )
EET_ _'__|—I =T [ ‘ I I i ] B
x
3 o — e 1)
B+l
Y+L+STROKE
TL+L+STROKE
(¢}
(4] A B C1 c2 @CcD CJ CX Cy cz @D E E1 G
MagnetU\LNQ‘ Magnet Lif &
125 | 50 | 116 131 ‘ 138 108 | 142 | 251 | 25 32 40 64 35 46 | 58 21
Re(PT, s J
4 aJ Kv Kw M MM c(PT) Magnet t‘ILH’é*‘ Magnet LH & w Magnet ﬁILH’é*‘ Magnet L &
125 | 62 41 15 18 M30x1.5 1/2 330 ‘ 337 39 305 ‘ 312
weex wao Yo
. 5 TL N L
01~ | 201~ ] 301~ | 401~ | 501~ | 601~ | 701~ | 801~ | 901~
Magnet HILH & | Magnet LH & ~100 200| “"300| ~400| " 500| 600| 700| "800| —900| 1000
125 116 330 337 70 40 70 100 130 160 190 220 250 280 310

Parker RS

163



EEY-EBU2 ¥/9125

(2
MES
-I < YM+1/2 STROKE , 2-Rc(PT)
G
: v ——— .
>
g HE= B
SIEE: e -
A K!
E W
B C+STROKE Q
TL+STROKE
HECES TDH
Mt 5
Q
. il s
w1l =
B+L
TL+L+STROKE TA1 oTY TA1
= TSY
aTy
a
Q
5
T
1 | - o o
H 3]
TA2 TA2
FLE]
7= IPE]
@ |ct|c | T |TY
TA [@TD [1x1 [@d1 ]| @d2 [ TA1
125 | 108 | 142 | 50 | 160 | 32 | 32 [ 170 | 25 | 50 | 125
TS E
@ [oD1 [oD2 [TA2 | TX | 12
125 | 295 | 50 | 14 | 212 | 252
< c @D G | @
Al B M E KV | KW | M MM
2 Magnet H|L{ &t ‘Magnet L&
125 | 50 | 116 131 | 138 Mi4x15 | 35 | 46 | 21 | 62 | 41 | 15 [ 18 | M30x15
P L YC YM
Cl
Magnet H|Lj & ‘ Magnet L§ w Magnet H|L§ & ‘Magnet L& YH Magnet H|L§ & ‘Magnet L&
125 [ 172 2665 | 2735 39 183 | 190 180 1815 | 185
Hzex w0 Y2
s | B L « L
101~ |201~ (301~ 401~ 1501~ [601~ [701~ |801~ (901~
Magnet H|LH & [ Magnet LH & *“’0‘ 200‘ 300|400 | 500|  600| 700| 800 900‘ 1000
125 | 116 2665 | 2735 70 | 40 | 70 [100 [130 [ 160 [ 190 [220 [250 [280 310

m Pneumatic 164




I/EK&I(ALE I:l)
GDC Al2|=/E&YH(ALRE
HAxIAC
YR+
EES/P150 (2 : mm)
712 2Re(PT)
G
i M
g MM 7,7,7,7,7,77@
I
s e o |
A K! O C1
E W w oc2
C+STROKE Q
TL+STROKE
#7 1,000mm Ol &S] AL
S ELE Tie—Rod 2248 =t
| E
== | E== 1
.
C+STROKE TA gy TA
TL+STROKE
TL+L+STROKE
¢
) A B C1 c2 cM @D D1 E G J
10008| 2+ | 10000 &+
150 55 126 156 203 126 173 M16x2.0 40 60 46 20 70
L
2 KV KW M MM Q Re(PT) T TA T w
10000/ 2+ | 10000] &
150 50 20 18 M36x1.5 10 3/4 60 20 292 339 190 40
H2PRx B AL
L
[4) B s X ~100 | 101~ 201~ 301~ 401~ 501~ 601~ 701~ 801~ 901~
200 300 400 500 600 700 800 900 1000
150 126 292 70 40 70 100 130 160 190 220 250 280 310
m Pneumatic 165




GDC Al2|=/®EZY(ALTH)

HAxIAC
YR+
EEH/®150 (E49] © mm)
LBY B C+STROKE
A K 2Ro(PT) Hot
4-CM
. G |
> M
X
é MM EH| == = = —
8 |8 Tt 71— >
o L1 -
o« a 1 - 1 E 40LD 5
TT T
‘ LB w W LC LE
Y LS+STROKE
TL+STROKE
ETd-PAE &% 1,000mm O|&+2| 24
Tie—Rod 223 F&t TA oTY TA
L =
R
I T
.
LS+STROKE
TL+STROKE
Y+L
TL+L+STROKE
g | A B C c cM o0 | @0 | E G | @ | KV | Kw | L1 | 1B | LCc | LE
1000018t [10000] 4
150 | 55 | 126 | 156 | 203 | 126 | M16x20 | 40 | 60 | 46 | 20 | 70 | 50 | 20 | 26 | 75 | 49 | 26
@ | LH Ls X | |z | ™ MM R [RePT)| T | TA IC ™YL w oY
10001 24100001 4 1000812410000/ &
150 | 105 | 254 | 301 | 118 [1915| 173 | 18 | M36x15| 10 | 3/4 | 60 | 20 | 357 | 404 | 190 | 40 [ 77
PECEL O L
L
(%] B Y TL X 100 | 101~ [201~ [301~ 401~ |501~ | 601~ | 701~ | 801~ |90~
200 300 400 500 600 700 800 900 1000
150 | 126 | 77 | 357 | 70 | 40 | 70 | 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310

Parker RS

166



GDC Al2|=/EZ=8(ALEH
—_— e © —
x| A
RIS
EEY-ZUX Ot2EH/2150 (242 - mm)
FHE
FR 2-Re(PT)
Ja G o 4-9FD
> M |
X Lt
o] IYIY @ = — = —
I
IS 8 r R 1 i e Fl- el
A K
w w gct
Y FT FX
B C+STROKE Q Fw
TL+STROKE
=7} H2t8 #A 1,000mm 0| 42| HL
s =dd /'r.eﬂodzg%‘?é
e | 7777@
- I S A a
Q
1 I [N E——
T
-
C+STROKE
TL+STROKE
TL+L+STROKE
2 A B ¢ c1 cM @D | @D1 | E QFD | FR FT | FW | FX FY FZ
1000012410000/ &
150 | 55 | 126 | 156 \ 203 126 M16x2.0 40 60 46 20 52 19 | 270 | 228 | 115 | 170
TL
[4] G @) | KV | Kw M MM Q |RePT)| T TA Y w Y
1000812+ [ 100001 4
150 | 20 70 50 20 18 M36x1.5 10 | 38/4 | 60 20 292 \ 339 | 190 | 40 | 107
HERx R0 F2
2 B = X 100 | 101~ T201~ 301~ 1401~ 501~ | 601~ | 701~ | 801~ [901~
200|“"300| " 400| 500| 600| 700| 800| 900| 1000
150 | 126 | 292 | 70 40 70 | 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310
m Pneumatic 167



o
EEY-ZUX Ot2EH/2150 (9l
Fcd
2-Re(PT)
G G 4QFD
—— ~—
2 M 1
<
g — $E | &e
| ‘ !
|
=i |
IS 8 T brt—T— " 1—" i -
‘ ‘
‘ ‘
- ¢ | &le
E A —
A K
w w 0ot
B C+STROKE FT FX
TL+STROKE FW
TL+L+STROKE
2] A B c c1 CcM @D E @FD FT Fw FX
150 55 126 156 126 M16x2.0 40 46 20 19 270 228
2 FY Fz G aJ KV Kw M MM Re(PT) | TL w
150 115 170 20 70 50 20 18 M36x1.5 3/4 301 40
HEZRx HEO AR
L
(%] B TL X 100 | 101~ 201~ [301~ "[40i~ [501~ [601~ [701~ [801~ [90i~
200 300 400 500 600 700 800 900 | 1000
150 126 301 70 40 70 100 130 160 190 220 250 280 310

Parker RS

168




GDC Al2|=/EZS(ALTH)

AxI AT
AR+
EEY-Z2YHI2E/2150 (E+2 : mm)
CAE
2Rc(PT)
> M ~
< |
> @co B
g | E\/ © || ©
SN i 1 I I v W M = N
| === 3 CRHES
: :
T
K ‘ oY _|cl
w w |’ CX
B C+STROKE E1 dct
Y+STROKE Oce2
TL+STROKE
Y+L+STROKE c
TL+L+STROKE
@ A B c c1 c2 @CD cl cx [ @D E E1
150 55 126 156 126 173 30.1 30 38 45 40 46 65
%] G aJ KV Kw M MM Re(PT) L w Y
150 20 70 50 20 18 M36x1.5 3/4 377 40 347
HELX REo] AL
L
(%} B LS X ~100 | 101~ 201~ | 301~ | 401~ | 501~ | 601~ | 701~ | 801~ | 901~
200 300 400 500 600 700 800 900 | 1000
150 126 377 70 40 70 100 130 160 190 220 250 280 310
m Pneumatic 169




X/ XS (ALE I:I)
HAxIAC
AR+
EFH-ZH|A™®/150 (BF2) : mm)
cBy
2Rc(PT)
> M
5 i
<
g NG
il 1
RFigs:: L+
i
® || |&
A T
ox
B C+STROKE E1 cz
Y+STROKE dct
TL+STROKE gce
Y+L+STROKE cJ
TL+HL+STROKE
4] A B c C1 c2 @CD cJ [ [ cz @D E
150 55 126 156 126 173 30.1 30 38 45 88 40 46
2] E1 G aJ KV Kw M MM Re(PT) L w Y
150 65 20 70 50 20 18 M36x1.5 3/4 377 40 347
HERx BE HL
L
2 B s X ~100 | 101~ 201~ 301~ 401~ 501~ | 601~ 701~ 801~ 901~
200 300 400 500 600 700 800 900 1000
150 126 377 70 40 70 100 130 160 190 220 250 280 310

Parker RS

170



GDC Al2|=/2Zd(ALRE
AR+
EEY-E2L2 "/2150 (S| © mm)
MES YM + 1/2 STROKE i 2Re(PT)
g - e
e
= -

B C+STROKE Q
TL+STROKE ! '
Hzexy D&
i =) ;
Q
T ) -
o el =)
= |/ 0l \ :
B+L \
TL+L+STROKE TA1 TA1
&
TS% oTy
8
Q
| - %
] IS}
TA2 TA2
A
‘ YC+STROKE , —
HEE] B
cr| ce| T | T
2 TA [ @D | Tx1 | @d1 | @42 [ TA1
—— 150 | 126 [ 173 ] 60 | 190 | 45 [ 40 | 200 [ 30 | 60 | 125
77”4”4”4765 " !
‘ oDl [@D2| TA2[ TX [ 12
= | 150 | 39.5[ 60 | 17 [ 247 | 308
|
2 A B c oM @D E G @) | KV | Kw
150 | 85 | 126 | 156 M16x2.0 40 46 20 70 50 20
2 M MM Q |RaPD| TL w YC | YH | WM
150 | 18 M36x1.5 10 | 3/4 | 292 | 40 | 212 | 196 | 204
HEex wxo e
L
2 B = X 100 | 101~ [ 201~ 301~ [401~ [ 501~ | 601~ | 701~ | 801~ | 901~
200 300 400 500 600 700 800 900 1000
150 | 126 | 292 | 70 40 | 70 | 100 | 130 | 160 | 190 | 220 | 250 | 280 | 310
m Pneumatic 171




	1.Actuator 
	Air Cylinder
	Pin Cylinder
	Round Cylinder
	ISO Cylinder
	Tie Rod Cylinder
	GDC
	GDC
	SGB
	VGI
	VGO
	VGD
	SGT
	SGF
	SGD
	SGR

	GDCN

	Compact Cylinder
	Guide Cylinder
	Guide Unit
	Stopper Cylinder
	Rodless Cylinder
	High Power Cylinder
	Bellows Cylinder
	Hydro Check

	Rotary Actuator
	Air Gripper

	2.Valve
	3.Vacuum
	4.FRL Unit
	5.Accessory
	6.Electric

